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Full Marks : 100

Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer any five questions.

(@) ()

(i)
(ifi)

(iv)

What are the desirable features of
AIR as a Power fluid ? 3

What are the disadvantages of
using AIR versus using hydraulic
0il ? 3

Name the six basic components
required in a hydraulic system.
' 4

Why we do not use water to
measure Barometric Pressure ?
Justify your answer with
calculation. 4
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(b) () What is the difference between a
flared fitting and a compression
fitting ? 2

(i) What are the various sealing
devices ? Discuss the characteristics
of a O-Ring and common materials
used for seals. 4

(iii) What are the probable causes of
hydraulic system problems for the
following operations ?

— Noisy Pump 2
— Overheating of hydraulic fluid.
&2

(c) A steel tubing has a 1250 inch diameter
(OD) and a 1-060 inch inside diameter

- (ID). It is made of SAE1010 dead soft
cold drawn steel having a tensile
strength of 55,000 psi. What would be

the safe working pressure for this tube
assuming a factor of safety 87? S

7. Write short notes on: (any two). ... 20
e Smart Positioners «.;:\ * g
e Safety Relief Valve ,y‘i?w
«  MPL circuits (AND,f.;"'
° Needle Valve ]
. I/P Converter.
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